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Ubungsblatt: Verdoppel bis 50

A
L Verdoppeln

4+ 20 - 523 - s 44 —

723 — 8. 5 = 9. 13 —»

10.1F = m 1 = 2. 14 —

331 —» 1440 — 5.4 =

16 23 — 17.31 — 18.22 =

19.35 - 2021 =» n 1F -

215 — 3.6 - .16 —

%531 = 206. T = 7 4 =

8. 42 — 9.8 — 3013 -

3144 — 3.6 — 3.8 =
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Ubungsblatt: Verdoppel bis 50 | ANTWORTEN

Verdoppeln

0. 17 - 34 1 - 2 2.14 - 28
3.31 - 62 4. 40 — 80 5. 4 - 8
16.23 - 46 i7.31 - 62 18.22 - 44
9.35 - 70 021 - 42 21 17 - 34
2 15 - 30 23 6 - 12 2416 = 32
2531 - 62 % F - 14 7. 4 > 8
28 42 — 84 9 8 — 16 013 > 26

31 44 > 88 w6 —» 12 3.8 » 16
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